Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.

7 2 /
I /
~ ; : /
1 2 /
B NEEE 3 /
S |
fob B bbb 0 | fob b5 b 3/ ' !
2117
4 NG _A’ /
s ~. 5|/
S 61/
slope: slope:
y-intercept: y-intercept:
x-intercept: x-intercept:
~J e
G :
4 NS 4
> ~ B
! ~o :
100 R 7 S U R D IY 7\ - \11
0 i 0 | -lo 7 <\4\3\ e 9§
in-n
= TS
B = N
8 % N
slope: slope:
y-intercept: y-intercept:
x-intercept: x-intercept:

Math-Drills.Com




Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.

¢

10

la]

910

(\'197

T T ¥ S R < 1 T U LD

fal w.. w.. w.. al / w.. w wl

on d.u m m on 4 d.u wn“.v m

\ g3 ) \ g8

x \\ E=l= ] £ B

\ 1 1 ] 1

8 \ > X - >~ X
=) =)
(e} ()
X <
\ 7/

< WMI < /Qﬂl .

& LG N g DD S P N § B D

d Y Q 2 & w N Q. 2 o

en m m m oh _.Iw m m

S L O

wh 28 y s ..m

== ==

= > X > X

Math-Drills.Com




Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.

O 7 S R D 1[1\) 13 o
\v4 7 D D 1-"1’.) /A) - 0 7 5 3 2 L,.l"; 3
3 A 3 A
g e o
::") /’/ '/:(’
-7 A -7
4 e 9
el -
slope:  4/5 slope: 5/8
y-intercept: -8 y-intercept: -5
x-intercept: 10 x-intercept: 8
-10 7 <43ﬂ§n 7/,A£Io -10 7 <4321§n
- A - ]
-7 -7 /'
4 I
P! ] ¥
slope: 5/6 slope:  3/8
y-intercept: -8 y-intercept: -8
x-intercept: 9.6 x-intercept: 21.33333

Math-Drills.Com




Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A)

Find the slope, y-intercept, x-intercept for each line.
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Linear Equation Graphs (A) Answers

Find the slope, y-intercept, x-intercept for each line.
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